HAEREENR A REEEDOHE

(B[ : Ft-C02)
U
) = U 114

U
Bt 0.7 0.3 -57% 0.3 -62% -11%
Igé'%ﬁ.q HAEXE 0.7 0.3 -57% 0.3 -62% -11%

EREE 0  — 00— =
Bt 3,378 1,525 -55% 1,975 —42% 29%
RAEM |RE 1,598 810 —49% 1,050 —34% 30%
E3 7 1,781 715 -60% 924 -48Y% 29%
il 2,050 1,263 -38% 1,378 -33% 9%
& EKESE 155 168 8% 189 22% 13%
ERHN g g 66 52 ~21% 54 ~19% 3%
“3 BEE 1,830 1,042 -43Y% 1,135 -38Y% 9%
Bt 1,506 1,423 —6% 1,398 —7% —2%
BEE 1,411 1,366 -3% 1,322 -6% -3%
BT (8 46 21 ~549% 29 -38% 35%
Ehoid 30 27 ~10% 28 -6% 5%
Mz 19 9 —53% 19 0% 113%
Bt 136 165 22% 194 43% 17%
BEEY — iR EEY 105 99 —6% 118 13% 20%
EEXEREY 31 67 115% 75 143% 13%
. A U oF 4 944 .I| ‘l
587 | —1%| 0%

=3 A

X EEAAQCEKRCAHELS—HRLEWNEEAHYET

KTZDOMOEA R LIE. COMMDAI R —FIL—E R . 7OV EDBRENRAREET

=3 SCE:Ip/ Al T (3~




